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K =k

4

7> = 2002 —9x+ 18 =0

8x° — 63x% — 15x+ 56 = 0

X — 137 +36x =0

X —2¢ —48x =0

X =4 —29x—24=0

o
=

H #A:

X +57-13x+7=0

30+ 272 —32x+32=0

¥ = 19x* + 114x— 216 = 0

106> — 19x% —411x+ 378 =0

X=x=0
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L2at 8§

K =k

4

7 —20x* —9x+ 18 =0
6

x=-=,3,—-1
7

8 — 63x% — 15x+ 56 = 0
7

x=-,8—1
8

X — 137 +36x =0
x=19,4,0

X —2¢ —48x =0
x=28,-6,0

X =4 —29x—24=0
x=-3,8,—1

H #A:

X +57-13x+7=0
x=1,-7,1

3 + 2% —32x+32=0
,—4,2

x:

Wl A

¥ = 19x* + 114x— 216 = 0
x=9.4.6

10x° — 19x2 —411x+ 378 = 0
9

x=—,—6,7
1

X=x=0
x=1,-1,0
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